Chapter 8 Financial Analysis and Strategy
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1.
Financial Strategy
1.1
Financial strategy refers to the way in which a business allocates and manages its finances (a critical resource) in order to achieve its corporate objective.
1.2
Financial strategy can be defined as 'the identification of the possible investment strategies capable of maximising an organisation's net present value, the allocation of scarce capital resources among the competing opportunities and the implementation and monitoring of the chosen strategy so as to achieve stated objectives'.
2.
The Nature and Purpose of Financial Management

	2.1
	Key concepts

	
	(a)
Financial management – can be defined as the management of the finances of an organization in order to achieve the financial objectives of the organization. The usual assumption in financial management for the private sector is that the objective of the company is to maximize shareholders’ wealth.

(b)
Financial management decisions cover investment decisions, financing decisions, and dividend decisions and risk management.

(c)
Financial control – the control function of the financial manager becomes relevant for funding which has been raised. Are the various activities of the organization meeting its objectives? Are assets being used efficiently? To answer these questions, the financial manager may compare data on actual performance with forecast performance.


	2.2
	Investment decisions, financing decisions and dividend decisions

	
	(a)
Investment decisions
(i)
The investment decision considers the benefits of investing cash, either in projects or in working capital, or even in high yield deposit accounts.
(ii)
This is important to shareholders, as it will determine the cash flows which are generated by the company and will ultimately affect the dividends paid and the share price.
(iii)
Assessing projects can be difficult as large investments are often required which promise the possibility of returns over many years, making the cash flows hard to estimate.
(iv)
Shareholders will also be concerned to compare the risk as well as the return between profits, as a higher risk investment should carry a higher return to compensate.
(b)
Financing decisions
(i)
The financing decision considers the source of the finance required for the business operations. This will be a mixture of equity and long-term debt finance.

(ii)
Companies need to balance the benefits to their shareholders – debt is a cheaper form of finance as the returns required are lower (due to lower risk) and the debt interest is tax allowable, but excessive gearing can increase the risk to the company, and hence the shareholders, dramatically.
(c)
Dividend decisions
(i)
The dividend decision looks at how much of the surplus cash generated should be paid out to the shareholders, and how much retained for future investments.
(ii)
Shareholders generally prefer a predictable, steadily rising, dividend rather than one, which follows the fluctuations of the profits.


2.3
Examples of different types of investment decision:
	Decisions internal to the business enterprise
	· Whether to undertake new projects

· Whether to invest in new plant and machinery

· Research and development decisions

· Investment in a marketing or advertising campaign

	Decision involving external parties
	· Whether to carry out a takeover or a merger involving another business

· Whether to engage in a joint venture with another enterprise

	Disinvestment decisions
	· Whether to sell off unprofitable segments of the business

· Whether to sell old or surplus plant and machinery

· The sale of subsidiary companies


2.4
The statement of financial position and financial management:
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3.
Financial Objectives
3.1
Two principal financial objectives
	3.1.1
	Two principal financial objectives

	
	(a)
Profitability – a business must achieve long-term profitability objectives that provide shareholders with their required rate of return.

(b)
Liquidity – a business must always have sufficient cash to met its financial commitments when they become due.


3.1.2
These objectives are equally important. A profitable company can go out of business because it does not have access to sufficient cash to meet its financial commitments. This will lead to business failure.
3.1.3
A balance, therefore, must be achieved between profitability and liquidity. It is critical that management understands the risk/return relationship the company is prepared to accept in earning the required level of profitability. This risk/return relationship covers financial and operational risks of the company.
3.2
Objectives in not-for-profit organizations

3.2.1
Not-for-profit organizations include organizations such as charities, state health service and police force, where they are not run to make profits, but to provide a benefit.

3.2.2
Although good financial management of these organizations is important, it is not possible to have financial objectives of the same form as for companies. The focus therefore for these organizations is on value for money, i.e. attempting to get the maximum benefits for the least cost.

3.2.3
Value for money can be defined as getting the best possible combination of services from the least resources, which means maximising the benefits for the lowest possible cost.
3.2.4
This is usually accepted as requiring the application of economy, effectiveness and efficiency.
3.2.5
Economy is attaining the appropriate quantity and quality of inputs at lowest cost to achieve a certain level of outputs.
For example, the economy with which a school purchases equipment can be measured by comparing actual costs with budgets, with costs in previous years, with government/ local authority guidelines or with amounts spent by other schools.
3.2.6
Effectiveness is the extent to which declared objectives/goals are met.
For example, the effectiveness of a school's objective to produce quality teaching could be measured by the proportion of students going on to higher or further education.
3.2.7
Efficiency is the relationship between inputs and outputs.

For example, the efficiency with which a school's IT laboratory is used might be measured in terms of the proportion of the school week for which it is used.
3.3
Operating Gearing

	3.3.1
	Definition

	
	Operating gearing is a measure of the extent to which a firm’s operating costs are fixed rather than variable as this affects the level of business risk in the firm. Operating gearing can be measured in a number of different ways, including:

1.
Fixed costs
or

Variables costs
2.
Fixed costs
or

Total costs
3.
% change in EBIT (or PBIT)
or

% change in turnover
4.
Contribution
or

PBIT or EBIT
Contribution is sales minus variable cost of sales.


3.3.2
Firms with a high proportion of fixed costs in their cost structures are known as having high operating gearing.

	3.3.3
	Example 1

	
	Two firms have the following cost structures:

Firm A
Firm B
$m
$m
Sales
5.0

5.0

Variable costs

(3.0)

(1.0)

Fixed costs

(1.0)

(3.0)

EBIT

1.0

1.0

What is the level of operating gearing in each and what would be the impact on each of a 10% increase in sales?

Solution:

Operating gearing can be calculated as follows:

Firm A
Firm B
Fixed costs/variable costs
1/3 = 0.33
3/1 = 3
Firm B carries a higher operating gearing because it has higher proportion of fixed costs.

Its operating earnings will therefore be more volume-sensitive:

Firm A
Firm A
Firm B
Firm B
$m
10% increase
$m
10% increase
Sales
5.0

5.5

5.0

5.5

Variable costs

(3.0)

(3.3)

(1.0)

(1.1)

Fixed costs

(1.0)

(1.0)

(3.0)

(3.0)

EBIT

1

1.2

1

1.4

Firm B has enjoyed an increase in EBIT of 40% whilst Firm A has had an increase of only 20%. In the same way a decrease in sales would bring about a greater fall in B’s earning than in A’s.


	3.3.4
	Example 2

	
	If a company were to automate its production line to replace the workers currently paid an hourly wage, what would be the expected effect on its operating gearing?

Solution:

Swapping variable costs for fixed would increase the level of operating gearing.


3.4
Financial Gearing

3.4.1
Financial gearing is the amount of debt finance a company uses relative to its equity finance.
	3.4.2
	Financial risk

	
	The greater the level of debt, the more financial risk (of reduced dividends after the payment of debt interest) to the shareholder of the company, so the higher is their required return.


3.4.3
Financial risk can be seen from different points of view.

(a)
The company as a whole – If a company builds up debts that it cannot pay when they fall due, it will be forced into liquidation.

(b)
Payables – If a company cannot pay its debts, the company will go into liquidation owing payables money that they are unlikely to recover in full. Lenders will thus want a higher interest yield to compensate them for higher financial risk and gearing.

(c)
Ordinary shareholders – A company will not make any distributable profits unless it is able to earn enough profit before interest and tax to pay all its interest charges, and then tax. Ordinary shareholders will probably want a bigger expected return from their shares to compensate them for a higher financial risk.

	3.4.4
	Financial Gearing – gearing ratios

	
	Financial gearing measures the relationship between shareholders’ capital plus reserves and capital or borrowings or both.
1.
Equity gearing =
Preference share capital + long-term debt
Ordinary share capital + reserve
2.
Total or capital  gearing =
Preference share capital + long-term debt
Total long-term capital
3.
Interest gearing =
Debt interest
PBIT
Note:

(a)
Since preference shares are treated as debt finance, preference dividends are treated as debt interest in this ratio.

(b)
For comparison purposes, the same ratio must be used consistently.

(c)
Capital gearing is used more than equity gearing.

(d)
Interest gearing is an income statement measure rather than a statement of financial position one. It considers the percentage of the operating profit absorbed by interest payments on borrowings and as a result measures the impact of gearing on profits. It is more normally seen in its inverse form as the interest cover ratio.


3.4.5
The ratios can be calculated on either book or market values of debt and equity. There are arguments in favour of both approaches:

(a)
Market values:

(i)
are more relevant to the level of investment made

(ii)
represent the opportunity cost of the investment made

(iii)
are consistent with the way investors measure debt and equity.

(b)
Book values:

(i)
are not subject to sudden change due to the market factors

(ii)
are readily available.
	3.4.6
	Example 3

	
	The following excerpt has been obtained from the financial statements of ABC Co.
Statement of financial position excerpt

2012
2011
$000
$000
Total assets less current liabilities
158

139

Non-current liabilities

5% secured loan notes

40

40

118

99

Ordinary share capital (50c shares)

35

35

8% Preference shares ($1 shares)

25

25

Share premium account

17

17

Revaluation reserve

10

-

Income statement

31

22

118

99

Income statement excerpt

2012
2011
$000
$000
$000
$000
Gross profit
52

45

Interest

2

2

Depreciation

9

9

Sundry expenses

14

11

(25)

(22)

Net profit

27

23

Taxation

(10)

(10)

Net profit after taxation

17

13

Dividends:

Ordinary shares

6

5

Preference shares

2

2

(8)

(7)

Retained profit

9

6

Total market values are/were as follows:
2012
2011
Ordinary shares (per share)
204c
195c
Preference shares (per share)

80c
102c
5% loan notes (per $100 nominal value)

$108

$116

Calculate:

(a)
Equity gearing

(b)
Capital gearing

(c)
Interest gearing

For ABC Co using both statement of financial position and market values.

Solution:

(a) Equity gearing
2012
2011
Book values
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= 69.9%
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= 87.8%
Market values
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= 44.3%
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= 52.7%
Note: Since preference shares are treated as debt, equity gearing could also be described as the debt/equity ratio.

(b) Capital gearing

2012
2011
Book values
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(c) Interest gearing

2012
2011
Interest gearing
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3.4.7
Impact of financial gearing – where two companies have the same level of variability in earnings, the company with the higher level of financial gearing will have increased variability of returns to shareholders.

	3.4.8
	Example 4

	
	Calculate the impact on Firm C of a 10% fall in sales and comment on your results:

$000
Sales
10

Variable costs

(2)
Fixed costs

(5)

EBIT

3

Interest

(2)

EAIBT

1

Solution:

$000
10% decrease ($000)
Sales
10

9

Variable costs

(2)
(1.8)
Fixed costs

(5)

(5)

EBIT

3

2.2

Interest

(2)

(2)

EAIBT

1

0.2

The impact of a 10% decrease in sales has reduced operating earnings by (3 – 2.2)/3 = 26.67%.

The increased volatility can be explained by the high operating gearing in C.

However, C also has debt interest obligations. This financial gearing has the effect of amplifying the variability of returns to shareholders. The 10% drop in sales has caused the overall return to fall by (1 – 0.2)/1 = 80%. The additional 53.33% variation over and above the change in operating earnings is due to the use of debt finance.


4.
Effect on Shareholder Wealth

4.1
Earnings per share (EPS)

4.1.1
Basic EPS should be calculated by dividing the net profit or loss for the period attributable to ordinary shareholders by the weighted average number of ordinary shares outstanding during the period.

	EPS =
	Profit after tax and preference dividends

	
	Weighted average number of shares


4.2
Price-earnings ratio (P/E)

4.2.1
P/E ratio is the ratio of a company’s current share price to the latest EPS. A high P/E ratio indicates strong market confidence in the future profit growth of the company. Conversely a low P/E ratio indicates low market confidence in the company making a profit.
4.2.2
The value of the P/E ratio reflects the market’s appraisal of the share’s future prospects. If EPS falls because of an increased burden arising from increased gearing, an increased P/E ratio will mean that the share price has not fallen as much as earnings, indicating the market views positively the projects that the increased gearing will fund.

	P/E Ratio =
	Market price per share

	
	EPS


4.3
Dividend cover

4.3.1
It is a measure of how many times the company’s earnings could pay the dividend. The higher the cover, the better the ability to maintain dividends, if profits drop.

4.3.2
This needs to be looked at in the context of how stable a company’s earnings are: a low level of dividend cover might be acceptable in a company with very stable profits, but the same level of cover in a company with volatile profits would indicate that dividends are at risk.

4.3.3
To judge the effect of increased gearing on dividend cover, you should consider changes in the dividend levels and changes in dividend cover. If earnings decrease because of an increased burden of interest payments, then:

(a)
the directors may decide to make corresponding reductions in dividend to maintain levels of dividend cover.

(b)
Alternatively the directors may choose to maintain dividend levels, in which case dividend cover will fall. This will indicate to shareholders an increased risk that the company will not be able to maintain the same dividend payments in future years, should earnings fall.

	Dividend cover =
	EPS

	
	DPS


4.4
Dividend yield

4.4.1
Dividend yield is the rate of return a shareholder is expecting on an investment in shares of a company. Since shareholders expect dividend yield and capital growth, dividend yield is an important indicator of a share’s performance.

4.4.2
The yield will be influenced by the dividend policy of an organization; a company which has traditionally paid high dividends will be popular with some investors and this will be reflected in its share price.

4.4.3
From investor’s standpoint, the dividend yield indicates the return that an investor earns from holding shares in a particular company, and the higher the dividend yield the better. A low dividend yield might persuade investors to dispose of shares and invest the proceeds elsewhere.
4.4.4
If the additional debt finance is expected to be used to generate good returns in the long-term, it is possible that the dividend yield might fall significantly in the short-term because of a fall in short-term dividends, but also an increase in the market price reflecting market expectations of enhanced long-term dividends.

	Dividend yield =
	Gross DPS
	x 100%

	
	Market price per share
	


The gross dividend is the dividend paid plus the appropriate tax credit.

	Question 1

The directors of X are comparing some of the company's year-end statistics with those of Y, the company's main competitor. X has had a fairly normal year in terms of profit but Y's latest profits have been severely reduced by an exceptional loss arising from the closure of an unsuccessful division. Y has a considerably higher level of financial gearing than X.
The board is focusing on the figures given below:
X

Y

Share price

450c

525c

Nominal value of shares

50c

100c

Gross dividend yield

5%

4%

P/E ratio

15

25

Proportion of profits earned overseas

60%
0%

In the course of the discussion a number of comments are made, including those given below:
Required:

Discuss comments (a) to (d), making use of the above data where appropriate.

(a)
'There is something odd about the P/E ratios. Y has had a particularly bad year. Its P/E should surely be lower than ours.'

(b)
'One of the factors which may explain Y's high P/E is the high financial gearing.'

(c)
'The comparison of our own P/E ratio and gross dividend yield with those of Y is not really valid. The shares of the two companies have different nominal values.'

(d)
'These figures will not please our shareholders. The dividend yield is below the return an investor could currently obtain on risk-free government bonds.'


5.
Debt Holder Ratios

5.1
Interest cover

5.1.1
Interest on loan stock (debenture stock) must be paid whether or not the company makes a profit.

5.1.2
Interest cover is a measure of the adequacy of a company’s profits relative to its interest payments on its debt:

	Interest cover =
	PBIT

	
	Debt interest


5.1.3
In general, a high level of interest cover is good but may also be interpreted as a company failing to exploit gearing opportunities to fund projects at a lower cost than from equity finance.

5.2
Interest yield

5.2.1
The interest yield is the interest or coupon rate expressed as a percentage of the market price. It is a measure of return on investment for the debt holder.

	Interest yield =
	Interest rate

	
	Market value of debt


Examination Style Questions

Question 2
JJG Co is planning to raise $15 million of new finance for a major expansion of existing business and is considering a rights issue, a placing or an issue of bonds. The corporate objectives of JJG Co, as stated in its Annual Report, are to maximise the wealth of its shareholders and to achieve continuous growth in earnings per share. Recent financial information on JJG Co is as follows:
[image: image12.emf]
The par value of the shares of JJG Co is $1·00 per share. The general level of inflation has averaged 4% per year in the period under consideration. The bonds of JJG Co are currently trading at their par value of $100. The following values for the business sector of JJG Co are available:
	Average return on capital employed
	25%

	Average return on shareholders’ funds
	20%

	Average interest coverage ratio
	20 times

	Average debt/equity ratio (market value basis)
	50%

	Return predicted by the capital asset pricing model
	14%


Required:

(a)
Evaluate the financial performance of JJG Co, and analyse and discuss the extent to which the company has achieved its stated corporate objectives of:
(i)
maximising the wealth of its shareholders;

(ii)
achieving continuous growth in earnings per share.
Note: up to 7 marks are available for financial analysis.


(12 marks)
(b)
If the new finance is raised via a rights issue at $7·50 per share and the major expansion of business has not yet begun, calculate and comment on the effect of the rights issue on:
(i)
the share price of JJG Co;

(ii)
the earnings per share of the company; and

(iii)
the debt/equity ratio.


(6 marks)
(c)
Analyse and discuss the relative merits of a rights issue, a placing and an issue of bonds as ways of raising the finance for the expansion.
(7 marks)



(Total 25 marks)
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